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There are a total of 26 questions and five sections in the question paper.

All questions are compulsory.

Section A contains questions number 1 to 5, very short-answer type

questions of 1 mark each.

Section B contains questions number 6 to 10, short-answer type I

questions of 2 marks each.

Section C contains questions number 11 to 22, short-answer type II

questions of 8 marks each.

Section D contains question number 23, value based question of 4 marks.



(vi)  Section E contains questions number 24 to 26, long-answer type questions

of 5 marks each.

(vii) There is no overall choice in the question paper, however, an internal
choice is provided in one question of 2 marks, one question of 3 marks and
all the three questions of 5 marks. In these questions, an examinee is to

attempt any one of the two given alternatives.

@usg <h

SECTION A

1. 7dEh favrem (fenifim) foret ff Sfa o <ifies Sted-=sh 0w Afa sTawaes
AT 2 | 2 ShRUT §dTsy | 1

Meiosis is an essential event in the sexual life cycle of any organism. Give

two reasons.

2. IAUBIYUA e N (@Y Fe H A FasT | 1

How does a degenerate code differ from an unambiguous one ?

3. SN 3 gleed g Ulquiied Uiehicud T&ardl =i fafgu | 1

Write the hypothetical proposals put forth by Oparin and Haldane.

4.  RNA 9ifeTS IT 1 &1 1 3T 2 2 1

Write the function of RNA polymerase II.

57/2/1 3 P.T.O.



57/2/1

“ors1 wafie ot fgdftoes 3uemer g1 & & Wkt 8 |7 38 weM 1 gfE
HIT |

“Man can be a primary as well as a secondary consumer.” Justify this

statement.

Qs @

SECTION B

foramt g g foreat & srEaiies (waifufaess) sfisi & ST A % Q@
ATl W FoE ST |

Suggest two advantages to a farmer for using apomictic seeds of hybrid

varieties.

T AARERig H wleed Teor (362 hiF) N Fe AEIIRAT TSt B 2 39
yfsean 1 forg TR gutfed feman Srar 2 2

When does a geneticist need to carry a test cross ? How is it carried ?

Il IS 3 g Hehtor o o= X Fdrsy |

SHAIAT

T TAC HdA o SYH hl gl H Aaaee B o SqH AU 0 B 3 |
TE HIT |

Differentiate between outbreeding and outcrossing.
OR

Bottled fruit juices are clearer as compared to those made at home.

Explain.



9. 9 319 TRt 3= G aTel TE W YHO AW 8, 9« AUl g o fod
W T ! HATE &1 AT & | FHRO Sard gY fewaoft Hifrg | 2

When you go for a trek/trip to any high altitude places, you are advised to

take it easy and rest for the first two days. Comment, giving reasons.

10. I 99 JEET 1 BT 8 ? 399 a9-TEv | fohd YR wEman et § 2 2
What is joint forest management ? How can it help in conservation of
forests ?

QuE T
SECTION C
11. HHd IGRIY] T Th THIhd NG SHRY | 3

Draw a labelled diagram of a human sperm.

12. Icadud o1 BT 8 2 99 W SuTfeh Sfdey = o feam mam 8 2 3

What is amniocentesis ? Justify the statutory ban on it.

13. (a) T=fafaa feafaai § 89 9 w9 Omi/fosert o 9™ <qrsu

(i)  TTset Tt gISgIo A USATSH o hed o foIT Iaterit S

H IqNEd 8 SY
(i) 219 U I Th AR Tid (Hidl) o=@ |
(iii)  ShNATETY (TORE T&9) XXY &
(b) S feu Tu g # Tftra Ti/feehRl BT IS Tsh AT SIS | 3
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14.

15.

16.

17.
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(a) Name the kind of diseases/disorders that are likely to occur in
humans if

) mutation in the gene that codes for an enzyme phenyl

alanine hydrolase occurs,
(i1)  there is an extra copy of chromosome 21,

(i1i1)  the karyotype is XXY.

(b)  Mention any one symptom of the diseases/disorders named above.

DNA-J{dh{cae i T4eREf ASHT & TS JH101 TEqd i o [T ATsgeH
% W FHEAT i fohd YRR S feRar I 2

How was a heavy isotope of nitrogen used to provide experimental

evidence to semi-conservative mode of DNA-replication ?

2l IeTEn <kl ggEdT 9 I1Er faesma hi samen hifvu |

Explain convergent evolution with the help of two examples.

IME 1 A w1 % fu arfga-Aa 1 ford TR sEqATe foRan ST Sehar § 2

GHSATHRL ddigy |

How can sewage be used to generate biogas ? Explain.

IS ST o SF1 I STIhA H FGEAT i o T 30 S 1 3T Tfl ohl
HATIRIHRAT Bt & | 39 dMfod SH hl 91 T § gfdl IR e 6 OT®
TfshaT T ATH SdTST dT IHeh! SREdT hIfT |

Many copies of a specific gene of interest are required to study the
detailed sequencing of bases in it. Name and explain the process that can

help in developing large number of copies of this gene of interest.
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18. Ufiaed TEIfoTust UATSH EcoRI i fsham gRI gaieM DNA fomior st g &
T w waTg = ST | 3
rerat

DNA-GUEl &l Y i H qAT JATUERR < TANT o [T I ITcAsd i H
TITh dehrieh hl ATH SATST AT IGeh! SATEAT HIfT | 3

Prepare a flow chart in formation of recombinant DNA by the action of

restriction endonuclease enzyme EcoRI.

OR

Name and explain the technique used for separating DNA fragments and

making them available for biotechnology experiments.

19. SaUIENfEhl 1 T Y@ ANEH I8 @l 8 o 88 digshmeh-gfatet sam &
Tren <ht fore faepfia <t S TeRdl 8 | TR arst for a8 fohw yeR @ve
Topa 1 @ | 3

One of the major contributions of biotechnology is to develop
pest-resistant varieties of cotton plants. Explain how it has been made

possible.

20. U UTHGT H AUECh] & Hawd ol 3Naed Faisy | 3

Justify the importance of decomposers in an ecosystem.

21. GEYRINGT (RFATISH), WSiilaal R Tl o s9 3T 9q1s¢ | 30 9
Tcdeh o1 Teh-Ush 3cTa0 ST | 3

Differentiate between mutualism, parasitism and commensalism. Provide

one example for each of them.
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22.

23.

57/2/1

SUIH IGTEL <! TERAT § Sia-fafaear o & fow gehivl €9 @ Imamft ok
Y &9 8 YA qehl shl AT hITT |

Compare narrowly utilitarian and broadly utilitarian approaches to

conserve biodiversity, with the help of suitable examples.

Qs ¥

SECTION D

A9 T TS gRI & Tl SFRfCH-aTel # wfia g | 98l o <’ T 9
HEHH T I H 93 HI AN Ha1 ®@ o AR Forel ugred &1 da9 W & 9 |
ISt U 91E 39 YU U T Teh ASh] NG T, TETHT IgR i ol AR 98
THH O AY9Y B T | Jd B R/ Id1 o R 3 ot Aes (Aefie) e o
Yo H @ A |

(a) T AT Y4 HIA-A/TRd o AR Sl 30 1A hl LT oIl ?
BI/AT | 39 IR AT g S % fIT shRor sy |

(b) TRl & Tefict wererl & &dl K T8 B ATt 7IfEl % IR # Th e
TR o W § sied & fore dam i |

(c) 3 T o fRHTa ®i fohegl &l fafer 1 gema qie arfes 39 =it
Tgret o S fohy ST % et Aisami § Sgfa Oer <l S Eeh |
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24.
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You have attended a birthday party hosted by one of your classmates.
You found some guests at the party sitting in a corner making a lot of
noise and consuming ‘something’. After a while one of the boys from the
group started screaming, behaving abnormally and sweating profusely.

On enquiry you found that the group members were taking drugs.

(a) Would you inform your parents/school authorities ? Yes/No. Give

reasons in support of your answer.

(b)  Prepare a note to be circulated amongst the schoolmates about the
sources and dangers of any two drugs.

(c) Write any two ways that you will suggest to your school principal
so as to promote awareness amongst the youth against the use of

these drugs.

Qs &

SECTION E

(a) URIEIHT § W07 o 91 9 AR Hich SIol o A0 deh hl =gearsTl hl
ST hifoTT |

(b) T Ueghrl diw & fafSm v 61 ikt o ToREa-ER (o)
1 Iocig HIMT | 5

AT

el § = 3R 37ataer Ufshanati hl samen ity | 5

(a) Explain the events after pollination leading to the formation of a
seed in angiosperms.

(b)  Mention the ploidy levels of the cells of different parts of an
albuminous seed.

OR

Explain the process of fertilisation and implantation in humans.
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25. (a)

(b)

(a)
(b)

(a)

(b)

(a)

(b)

Th ThEH hid | Hedd gl dlfead fagaeH fam sarse qen soeh!
AT HIT |
T fgaR HE | Heodd F, AEUEdT 319 i 915 | 36 I 6
YR W HSdA gRI T&dTiad fom &1 Ieorg hifore | 98 fFrm fora wer
foras frm a R g 2

JreraT

38 JAT 1 quiA i e “Eurdita fgia” =1 geasieR g3 |

Tall, Bepfctelie 3K Bashld] 4 3T “Euraia fagra’ o SetdRH W&y
1 forl TR et fomam 2

State and explain the law of segregation as proposed by Mendel in
a monohybrid cross.

Write the Mendelian F, phenotypic ratio in a dihybrid cross. State
the law that he proposed on the basis of this ratio. How is this law
different from the law of segregation ?

OR

Describe the experiment which demonstrated the existence of
“transforming principle”.

How was the biochemical nature of this “transforming principle”
determined by Avery, MacLeod and McCarty ?

26. HIfcTl-faRe® HRIHH o AWM, ¥ ° Il I IHTH i o g FHaa
AR W &g 90 9 = I qifer™l % ek I Y |

(a)

(b)

A1 (SRf) I g1 8 2 auenst T = A 399 fRW YR UM &+
Rgems gfcrett Icqd g1 9t 2 |

Teh-Ush 3UIH 3CTeL0T shl HETIal ¥ Hfsha 3R Ffsshay Tfereqm o s 37X
FATST |

YT

Se-3Hk FAT B & 2 HW H ITeh! YHHI I dUMF HIWT | TEEAHD-IGThT hl
YT A-JALehl skl T IEFAT & STl & 2

57/2/1

10



57/2/1

Under polio prevention programme, infants in India were given polio
vaccines on a large scale at regular intervals to eradicate polio from the

country.

(a) What is a vaccine ? Explain how does it impart immunity to the

child against the disease.

(b)  With the help of an example each, differentiate between active and

passive immunity.

OR

What are biofertilizers ? Describe their role in agriculture. Why are they

preferred to chemical fertilizers ?
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